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QUESTION 1

Oracle Event Hub Cloud Service is supported by many of the Oracle Cloud platforms. Which two are options of where
you can deploy Event Hub Cloud Service (Apache Kafka)?

A. in Oracle Public Cloud Data centers

B. in Azure data centers

C. in Rackspace data centers

D. in AWS or Azure data centers

E. in the Customer\\'s on-premises data centers
Correct Answer: AE

Reference: https://cloud.oracle.com/en_US/event-hub/features

QUESTION 2

You have data stored in the Hadoop cluster. You wish to use "R" to process the data in Hadoop and interface it with
your Oracle database with statistical algorithms.

Which function should you use to perform a linear regression model on the data?
A. orch.Im

B. orch.Imf

C. orch.Ir

D. orch.nmf

Correct Answer: A

Reference: https://docs.oracle.com/cd/E49465_01/doc.23/e49333/orch.htm#BDCUG412

QUESTION 3

During provisioning, which can you create in order to integrate Big Data Cloud with Other Oracle PaaS services?
A. Attachments

B. Associations

C. Couplings

D. Data Pipelines

Correct Answer: B
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QUESTION 4

As the Big Data Cloud Service Administrator, you need to access one of the cluster nodes. Using secure shell, what are
the two things you will need in order to access the node?

A. Name of the cluster node

B. Private ssh key pair

C. Name of the service instance
D. IP Address of the cluster node
E. Public ssh key pair

Correct Answer: BD

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/connect-cluster-node-secure-
shellssh.html#GUID-29C53AFA-66ED-4649-9A3B-2B5480EC5B53

QUESTION 5

You need to enforce network encryption, as Kerberos authentication does not protect data as it travels through the
network. Hadoop being a distributed system means that data must be transmitted over the network across machines.

Which is NOT a network communication protocol used network encryption?
A. Direct TCP/IP

B. HTTPS

C. Ssl

D. Hadoop RPC

Correct Answer: A
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